

Wende die Klammerregeln an und forme die Terme so weit wie möglich um:

1. $2a + (a - 2) =$

2. $7x - (5 + x) =$

3. $2a - (a + b) + (b + 12) =$

4. $1 - (x - y) + (x - 5) =$

5. $17ef - (8ef + 1) =$

6. $12a + (3a + 7b - 1) =$

7. $7ab - (5a - ab + 3) =$

8. $15x - 4 - (x - 2) =$

Lösungen

1. $2a + a - 2 = 3a - 2$

2. $7x - 5 - x = 6x - 5$

3. $2a - a - b + b + 12 = a + 12$

4. $1 - x + y + x - 5 = y - 4$

5. $17ef - 8ef - 1 = 9ef - 1$

6. $12a + 3a + 7b - 1 = 15a + 7b - 1$

7. $7ab - 5a + ab - 3 = 8ab - 5a - 3$

8. $15x - 4 - x + 2 = 14x - 2$